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B. Tech. EXAMINATION, Dec. 2013
(Vth Semester (Main & Re-appear)
CE
STRUCTURAL ANALYSIS-II
CE-301

Time : 3 Hours Maximum Marks : 100
Before answering the Question Paper candidates should

ensure that they have been supplied the correct and

complete Question Paper. No complaints.in this rogard,
will be entertained after the examination.

Note :  Attempt any five questions. All questions carry
equal marks

(a) What is displaccment method? Discuss in
detail. 10

(b) Generate the flexibility matrix for the given
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Analyse the portal frame using fexibility matrix
method. 20

What is degree of freedom of the given structure as
shown in fig. 3. Analyse the beam by force method.
2

What is degree of freedom of the given structure as
shown in fig. 3. Analyse the beam by displacement
method. 20
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method. 20

3. What is degree of frecdom of the given structure as
shown in fig. 3. Analyse the beam by force method.
2

4. What s degree of freedom of the given structure as
shown in fig. 3. Analyse the beam by displacement
method. 2
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Why do you mean by global coordinate and
local coordinate? Generate coordinate

transformation matrix 10 convert global
coordinate to local coordinate with an

example. 10

Difference between force and displacement
method ? 10

‘Writc advantage and disadvantage of FEM. 10
Find out the shape factor for the given T

scction Fig. 6(b). 10
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uniform cross section under applied load Fig. 7(a).
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8. A suspension cable with 50 m span and 4 m dip is
stiffened by a thre hinged girder. The dead load of
the girder and deck is 7.5 KN/m. Find SF. and
B.M. in the girder at a section 10 m from left hand
hinge when a concentrated load of 100 KN is
placed at 8 m from lefl hand hinge. Find the max.
tension in the cable. 20
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